~ Averaqge | G. Revision

1. Calculate the average of:
(@) 24,32, 48 and 56.
(b)) R12, R14,R13, R9and R 17.
(c) 3m 50, 2m 20, 90 cm and 1 m.

2. The total weight of 4 boys is 108 kg. Calculate the average weight of the 4 boys.

3. A worker's average monthly income is R 3 640. Calculate his total income per year.
4. The total of 6 numbers is 138. What is their averagjé?
5. The average of 7 numbers is 18. Two of the numbers are 15 and 16. Calculate

(i) the sum of the 7 numbers.
(ii) the sum of the remaining 5 numbers.
(i)  the average of the remaining 5 numbers.

6. Calculate the average of 11.75, 12.2 and 15.95.

7. The average age of Ali, Issa and Sheila is 12 years. Aliis 10 years old. Issa
and Sheila are of the same age. What is the age of Issa?

8. The average of 2 numbers is 38. A third number, 23, is added. What is the aver
age of the three numbers?

9. What is the average weight of 3 packets of sweets if they weigh 1 kg, 2kg 700g
and 950g respectively?

10. Paul has R 9 and Dev has R 14. How much must Dev give to Paul so that both
boys have an equal amount?
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i Days No of children absent
Monday 36
Tuesday - 25
Wednesday 15
Thursday 27
Friday 42 ' Table 1
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Table 1 shows the number of children who were absent from school during a week.
Calculate the daily average number of absentees.

12.  Table 2 shows the electricity bills of Mr Samy for 3 months.

Table 2
Months Bill
January R 285
February R 345
March R 330

Calculate the average amount spent monthly on electricity bills by Mr Samy.



